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iy 0Nl eduie | i c.du/ u;uLcrwi..,J*/JJ 4
Equilibrium Equilibrium Equilibrium Equilibrium | The price where demand and supply
demand price quantity _|are equal is called:
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Write short answers to any SIX parts. 12 -fggrzﬁé,wéc_éf a2y
Write definition of economics given by Marshall, -gfug.afJowbﬁJd’A (i)
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"Economics is the study of those activities of man which relate to . olitiic
examines that part of man's individual and collective efforts. Which
constitutes the material means of a prosperous life. How the necessitj

are used. Economics is, on the one hand, the knowledge of w
more important than the first) of one aspect of human life itsel

the daily routines of life. It
is intimately related to what
es are obtained and how they
ealth and on the other hand (Which is

What is meant by wealth in economics?
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Wealth is an accumulation of valuable economic resources th
real goods or monetary value. Net worth is most common m
the market value of all physical and intangible assets owned,
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Explain economic problem,
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3,2;1 an economic problem ari:z; I\:rlt:::iysi four characteristics (facts) come together at the same time,

> ny one .
il not drlse: y of the feature does not exist, the economic problem

write two characteristics of utility, ‘
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When the price of a commodity increases, its demand decreases, it is called a contraction of demand.
pifferentiate between demand and desire. _éukJ}u.‘.JmJ‘l} (vii)
4_u”!icﬂ’.g’..éanl/c’J,,G.Uﬂ;g)b;ug&uulé.ﬁé./d'bfcﬁl’/zl;EL.d')'/c-Lﬁ'} o

' -ﬂ&&f&i}'&&d}bé’.& L.ﬁ/;d
Desire means the want of a thing which a person does not have the resources whereas demar i
means the desire to purchase a commodity for which the consumer has the power to purchase.

Define law of supply. -(f.:..,i_! ;Jyjaiﬁ’ (viii)
e Qbrfinglnfed S e Qeorai§s ot SE SIS 7
If circumstances remain the same and the price of a commodity increases, its supply increases and
when its price decreases, the supply decreases. ' ‘ f g
Explain market equilibrium. -5{@&;(!0)'?&6}# (ix)
MJJUFJ&JJ,MJJWP.’J?JLJf.,étm.v.b’uqum.,,Jbu:dp;ycu;f}Ldp T
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Market equilibrium refers to the equal. supply and demand quantities in the market. At different

its supply and demand move in opposite directions and finally there comes a

prices of commodity,
d demand becomes equal, and this price is fixed in the market. It is

price at which both supply an
called market equilibrium.

Write short answers to any SIX parts. 12 -Jggl‘zﬁyﬁ,l Ziéc,a,f 3.Jr,w
-éuw"&_bm}:“@}wd‘ufwl? W)

Describe the relationship between law of increasing return and law of Slecreasing cost.

G/:’.U’db"‘&(/'vﬁfk&wZ‘flyd';c—:_/»-ﬁjf:alfbw..izw 4 uiLwJ‘ufu;g ‘AR
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The law of ir;crcasing returns and law of decreasing cost are closely related concepts in economics.
As a firm increases produclion, it experiences increasing returns, leading to lower costs per unit.
This, in turn, results in decreasing cost, making production more efficient. Conversely, decreasing
cost can lead to increasing production, reinforcing the cycle of growth and efficiency.
What is meant by abnormal losses? ) ‘?‘?-”/E(C-de 4 i
an_»'d'..i/b”aﬁ;}ér/.(}’:’c_«(}nﬂ/.[-J/W.ﬁ."bf}'ér/a{fr‘_dndb”}ﬂgﬁ!d’uﬂy‘gr/: T
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‘ hich the price is equal to the average variable costs of
d and the loss of the firm is equal to the

It is a situation of equilibrium of the firm in w
the firm i.e. Only the variable costs of the firm are covere

total fixed cost, this loss is called abnormal loss.
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Why a firm gain normal profit in long run? ?q.dfd’bfﬁ'dv_df'rf’—ﬁuﬁdf../ (i
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A firm gains normal profit in long run because if the firms existing in industry gain super Normy
profit, then the new firms start entering the indsutry and if the existing firms bear loss, some firms
leave the industry therefore the remaining firms start earning normal profit.
Define capital. ’ -g‘.“:h-.‘.’/a{.gl/ (iv)
- .3 o « e P -~
Ml YT Pz lut el L brdaTli Syt prenbmldabl e | / iel?
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Capital refers to income or that part of wealth that is used to generate more wealth or increase, such
as machines, tools and equipment, raw materials, factories, roads, rails, dams, power pljmts etc.
¥ . - a4
What is meant by factors of production? T{--"/l:r"-r(.f"ﬁd-'-l& )
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Factors required by man to produce the things he needs are called factors of production. These are

land, 1abour, capital and organization. - 3

Why there is a single firm in monopoly? ?:,-'d:fu::(r/@-g-’/'tﬂd/’ml." (vi)

Jbb_s.;d/ L,E-(I::_ I ut“/’/& fbﬁ;v?jgf:d#if' Kiwc..x?nuf u:dﬁ#;:lm,j'u/lﬁrf'd‘ggfiuj - iR
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When a product is being produced by a single firm and there is no substitute for that product in the

market for example, WAPDA "has a complete monopoly in the production and supply of electricity
in Pakistan. Therefore, there is one firm in monopoly. -

Define fixed cost with the help of examples. -é@ut{u:'ﬁ;é’/’dldzw.aw (vii)
o s S, i a . v - ! . ,
=4 &J}WJ/ULL u’?’_:/wul-q_ £ t/ub/.ufdlo/;fr/’..guf?uj 2l pe Dl (IR
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Fixed costs refer to the costs that a firm has to bear under all circumstances. These costs are also
called indirect costs. These expenses include sent of factory building, interst on capital etc.
What is meant by total revenue? , - Sl o) (il
nH dé;’/ 1 Oé—g(;é-{ﬁll"uzgdﬂfé"adﬂgybHJ?)?/-—?L/@)/A@JB»@J&JK il
Sl P Un s 3100013 o 1 32 1000 L
The amount earned by a firm by selling certain quantity of a commodity, is called total revenue. For

.example if the price of cloth is Rs. 10 per meter and if a seller 1000 meters of cloth, it will get Rs.
1000, this amount will be called total revenue.

Write four factors which affect the productivity of land. _é{ij%?L},L)’}pﬂﬁng; (ix)
Jll/Jdu‘ -4 'ﬂ’vﬁjldgcgyﬁdégdffdlj -3 ‘ L};’L}déb‘; 2 L;’Lf -1 :u.‘dli"

1. Location 2. Means of transportation
3. Natural factors physical featurcs, water and climate 4. Human resources

Write short answers to any SIX parts. 12 'G:g-‘b@'ﬁﬁgﬁpI}:fé;,Jf AJ’Y

Define per capita income. . . _ | y g‘.‘;-y /T de . U/d i
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Per-capita income is obtained when the national income ig divided by ‘lhc 4 o

National Income (.77

total population.

—Pcr-capita income [ AV
_Total Population d:gf‘}’ J de

Explain the concept of net national income, -Eiyu:&ﬂﬁzblgd}tf’u (i)
Ber g TS IL b IO N biiL oy e Setpe 3ol "

| 'Lﬁfﬂl&y) - J]Ju—d; G = Aslai$ s, -l} J:',é- .
If capital loss and depreciz'xtion expenses (depreciation allm:ancg) arej ’é.:d ::}from the g%
national product, the net national product is obtained ie, remov / |
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o National Product = Gross National Product - Depreciation Allowance. :
plus budget? ?u_:gd:..*fg}‘li (i)
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?What is sur

- biies S li-.:,,f.?m;g;:..zp}-dﬂtfc/ﬁf' e
| jhe revenue of the government is more than the expenditure, the budget is called surplus budget.

;Write different types of taxes. - ‘ - ‘_,_Oh’-;, _gd'w,_a (iv)

i s A et

n progressive tax 2. Regressive tax 3. Direct tax 4. Indirect tax
tesl e tBIP )

f\&'hﬂt is meant by balanced budget?
| -‘at'Uv.'Q—f-w'?c.b?’-?n/.ué&,el’n@/'b’:/ﬁﬁ ] 4
then the budget is called balanced

! : :
f the expenditure of the government is equal to the income,

‘pudget- .
i\’b’hat is meant by international trade? ?q_;l/k(:.a/(fdb’ﬂfuf (vi)
; ' _Q_“"'J.:.dlg"‘d’;’-uldf/:«)lfdbLﬁc}yz)Lu»:jl,.ﬁJVJ’:’M )
'The trade between the residents of two different countries is called international trade. '

| gxplain the concept of surplus balance of payment. -g’;.'yu,&ﬂl.@' IJIUJ’;J’ 6 (vii)

ifl},t/éfé-éﬁb'&buyﬁ)?t?,-gr/..-,lﬂ/.ug;a'-.;l.mw_dfq_.__,ws‘f-’wuﬂw’s WL
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A balance of payments surplus means that a country exports more than it imports. It provides
fenough capital to pay for all domestic production. A country can also lend outside its borders. A

;surplus can boost economic growth in the short run. _ 4
| What is meant by progressive tax? ' ?f_;f/_U’;.Jng (viii)
LA J‘zdﬂuzuﬁo’-xrggfﬁf;z,/‘ug;4£' ot ( SuTile AU S BTN oz
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at the lower level of income and at a higher rate at the higher level of
the tax rate will increase. If there is an increase, such a tax is called

| progressive tax. Income tax and wealth tax are imposed at progressive rates in Pakistan.
! Whzt is meant by budget? . _ ) Tq_.:F/L_f:..‘ef '(ix)
| -c"._t'LgLf.:of-:(:.« LJ-_"’."J@/:'A@,JJ:JVJL..?J:/:G /] 4

ure of the government in'a financial year is called budget.
| (r”"’) | ‘
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‘Attempt any THREE questions. Each question carries 08 marks.
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nition of economics given by Adam Smith,
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1 with schedule and diagram.

|Iftax is applied at a lower rate
{income, then as income rises,

TThe details of income and expendit

; Define and critically evaluate the defi

| Describe law of increasing returt
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Under perfect competition, differentiate two equilibrium situations normal 0

- abnormal profit in short ru:t period. _
L EA - e 3 M ST TS FR

Explain the total production method of measuring national income and write

Precautions.
' Degepes . ) .
seribe the concept of Zakat in detail. -E‘-{Uw:“’(rf‘n}c m
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